10340
Installation Instructions Rev:F

LUND

Challenger TM / Ultima TM Crossover
& Sidebox Tool Boxes

For proper installation and best possible fit, please read all instructions BEFORE you begin.
For technical assistance or to obtain missing parts, please call customer relations at 1-800-241-7219.

Para una instalacion adecuada y el mejor ajuste posible, lea todas las instrucciones ANTES de comenzar.
Para obtener asistencia técnica u obtener piezas faltantes, llame a relaciones con los clientes al 1-800-241-7219.

Pour une installation correcte et le meilleur ajustement possible, s'il vous plait lire toutes les instructions AVANT de commencer.
Pour toute assistance technique ou obtention de piéces manquantes, s'il vous plait appelez relations avec la clientele au 1-800-241-7219.

Important Safety Information

WARNING e Avoid the use of automatic “brush-style” car washes.
Evite el uso de tuneles de lavado automatico de "estilo de pincel”.
Evitez d'utiliser des automatique "en brosse de lavage de voitures.
e Do not use cleaning solvents of any kind.
No utilice solventes de limpieza de cualquier tipo.
Ne pas utiliser de solvants de nettoyage de toute nature.
« Periodically check all components for tightness.
Revise periddicamente todos los componentes estén ajustados.
Vérifiez périodiquement le serrage des composants.
¢ The lid is not a load bearing surface.
La tapa no es una superficie de carga.
Le couvercle n'est pas une surface portante.
« Do not expose painted surfaces to gasoline, diesel, or other caustic fluids.
No exponga las superficies pintadas a la gasolina, diesel u otros liquidos causticos.
Ne pas exposer les surfaces peintes a I'essence, diesel, ou d'autres fluides corrosifs.
A CAUTION « Be sure to wear safety glasses while installing the toolbox.
Asegurese de usar anteojos de seguridad durante la instalacion de la caja de herramientas.
Soyez sOr de porter des lunettes de sécurité lors de l'installation de la boite a outils.
* When using power tools read and understand all operating instructions.
Al utilizar herramientas eléctricas leer y entender todas las instrucciones operativas.
Lorsque les outils électriques, lire et comprendre toutes les instructions de fonctionnement.

Contents Challenger , Ultima 7
= ©
\N

2X b 2X ax Serrated Flange Bolt
J-Bolt 2X Hex Nut 5/16” Serrated Flange Nut ge b
i Dentada Perno Brida
J-Bolt 1/4-20 Serrated Tuerca hexagonal 5/16” Tuerca del reborde dentado . .
.o » . i Bolt Bride dentelé
J-Bolt Flange Nut Ecrou a six pans X 5/16” écrou bride cannelée
1/4-20 Tuerca del Flat Washer Q®
reborde dentado Arandela 2X S
1/4-20 écrou bride cannelée 2X @ Rondelle plate|  J-Bolt 2X
Carriage Bolt % P J-Bolt ) 1/4-20 Serrated Flange Nut
Perno 1/4-20 Tuerca del reborde dentado
Lock Washer J-Bolt J ; : \
1/4-2 |
Boulon Arandela de seguridad /4-20 écrou bride cannelée
or Rondelle
i \ ' or or
. \ i
Foam Gasket Foam Strips JJ/
Junta De Espuma Las Tiras De Espuma 1X 1X S 2X 1X
Joint en mousse  Bandes de mousse Foam Gasket Foam Strips Mounting Bracket Foam Gasket Foam Strips

Junta De Espuma Las Tiras De Espuma| Soporte de montaje  Junta De Espuma Las Tiras De Espuma
Jointen mousse  Bandes de mousse | Support de montage Jointen mousse  Bandes de mousse

Tools Required
% 1/2" Wrench @ ”
Marcador 1/2 "Llave 1; g égg;ﬁf
1/2 "Clé
% Marqueur % é 172 "Prise

9/32” & 11/32” Drill Bit

Safety Glasses Drill 0/32” & 11/32” Broca _ Tape Measure Utility Knife Ratchet
Gafas de seguridad Taladro ¢35 8 11/32 Meche *  Cinta métrica Cuchillo Trinquete
Lunettes de sécurité ~ De forage Ruban a mesurer Couteau Rochet

10F3



Installation Steps

CHALLENGER SIDEBOX

CHALLENGER &
ULTIMA CROSSOVER

E

—

MARK BOX HERE
MARCA DE CAJA AQUI

1 7‘ Cocher la case ICI
CROSSOVER SIDEBOX
MARK 5/16" IN FROM
THE LINE AND DRILL
/ MARK 5/16" EN DE
9/32" LA LINEA Y EL TALADRO
MARK 5/16 po de
"'\E\D LA LIGNE ET FORET
DRILL HERE AND AT
MARK 5/16" IN FROM —) OPPOSITE END
THE LINE AND DRILL TALADRO DE AQUI Y
MARK 5/16" EN DE EN Extremo opuesto
LA LINEA Y EL TALADRO FORET iciet a
MARK 5/16 po de Extrémité opposée
LA LIGNE ET FORET
APPROX. 6"
TADIi”E)I[?gEEQEUI' MAKE SURE TO AVOID STAKE HOLES
FORET ICI Cerciérese de evitar AGUJEROS JUEGO
3 T‘ Veillez & éviter les trous de piquet

CHALLENGER CROSSOVER & SIDEBOX

s 1OOLBOX
CAJA DE HERRAMIENTAS
TOOLBOX

- BED RAIL
CUARTO CARRIL
BED RAIL

&y

INSTALL FASTENERS
& TIGHTEN
Instale los tornillos
Y AJUSTE
Installer les fixations
& SERRER

FOAM ROLL
CUT INTO 2 EQUAL LENGTH PCS FOR CROSSOVER
Cortados de 2 piezas iguales PARA CRUCE

Couper en 2 PCS longueur égale pour CROSSOVER

CUT INTO 3 EQUAL LENGTH PCS FOR SIDE BOX
Cortados de 3 piezas iguales PARA CAJA DE LADO
Couper en 3 PCS méme longueur encadré ci-contre

FOAM STRIPS

SEPARATE PCS FOR CROSSOVER AND SIDE BOXES
INDEPENDIENTE PCS DE CAJAS DE CRUCE Y SECUNDARIOS
PC distincts POUR BOITES ET SECONDAIRES CROSSOVER

1/2"

g

i '

SIDE BOX

INSTALL FASTENERS
& TIGHTEN
Instale los tornillos
Y AJUSTE
Installer les fixations
& SERRER

DRILL & FASTEN HERE~
TALADRO y CIERRE AQUI

6

—‘ FORAGE & ATTACHEZ ICI

20F3




Installation Steps

/ ULTIMA CROSSOVER » TOOLBOX
. CAJA DE HERRAMIENTAS
o732 TOOL BOX

N FOAM

é) 1/2" ESPUMA
MOUSSE
INSTALL FASTENERS
& TIGHTEN
Instale los tornillos
Y AJUSTE
Installer les fixations BED RAIL
& SERRER CUARTO CARRIL
BED RAIL

&m
1. Occasionally lubricate the hinge and latches.

De vez en cuando lubricar las bisagras y los cierres.
Parfois lubrifier I'articulation et les verrous.

2. Occasionally adjustment of latching system is needed allowing this product to function properly.
De vez en cuando el ajuste del sistema de enganche es necesario permitir que este producto funcione

correctamente.
De temps en temps d'ajustement du systeéme de verrouillage est nécessaire permettant de ce produit

de fonctionner correctement.

Congratulations

You have purchased one of the many quality® Lund branded products offered by Lund International, Inc.
We take the utmost pride in our products and want you to enjoy years of satisfaction from your investment. We have made
every effort to ensure that your product is top quality in terms of fit, durability, finish and ease of installation.

Usted ha adquirido uno de los tantos productos de calidad de marca Lund® que ofrece Lund International, Inc.
Nos enorgullecen mucho nuestros productos y deseamos que disfrute afios de satisfaccion por su inversion. Nos hemos
esforzado mucho para asegurarnos de que su producto sea de gran calidad en cuanto a ajuste, durabilidad, acabado

y facilidad de instalacion.

Vous venez d'acheter un des nombreux produits de qualité de la marque Lund® fabriqués par Lund International, Inc.
Nous sommes extrémement fiers de la qualité de nos produits et nous espérons que vous profiterez de cet investissement de longues
années durant. Nous nous efforgons d'offrir la meilleure qualité en termes d'ajustement, de finition, de durabilité

et de facilité d'installation.

LUND

Lund International
800-241-7219 e Visit us at lundinternational.com

D4 . .
© 2012 Lund International, Inc. All rights reserved. )4
L ™ Lund® and the Lund®logo are trademarks of Lund International, Inc. LUNDL

30F3



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View32
	Drawing View90
	Drawing View91
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View95
	Drawing View96
	Drawing View97
	Drawing View98
	Drawing View99
	Drawing View100
	Drawing View101
	Drawing View102
	Drawing View103
	Drawing View104
	Drawing View105
	Drawing View106

	Sheet2
	Drawing View39
	Detail View  (1 : 7)
	Drawing View42
	Drawing View43
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View57
	Drawing View58
	Drawing View60
	Drawing View61
	Drawing View62
	Drawing View75
	Drawing View76
	Detail View C (1 : 13)
	Detail View D (2 : 21)
	Detail View A (1 : 7)
	Drawing View84

	Sheet3
	Drawing View65
	Drawing View66
	Drawing View67
	Drawing View68
	Drawing View81


